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Answer these questions 2 x 5= 10 

1. Without actual division, check which of the numbers are divisible by the underlined 

number. 
i.  25 138 3036 56311 2 

ii. 75 396 1112 30312 3 

iii. 40 712 5422 33308 4 

iv. 95 556 2360 13134 5 

2. Find the smallest number which when divided by 6, 8, 12, 15 and 20 leaves the same 

remainder 5. 

3. Arrange in ascending order 
i. XC, XV, XL, X, V, C 

ii. XXXII, XXIV, XXVI, LXV, XCV 

4. The sum of two numbers is 678 90 581. If one of them is 342 16 789 find the other 

number. Also find which of the two numbers is greater. 

5. Find 

i. 4132 x 27 

ii.   6309 x 36 

iii. 1234 x 432 

iv. 79 x 251 

6. Fill in the blanks: 1x10= 10 

i. The smallest number of five digit is    

ii. The expanded form of 29852 is  +  +  _+  +   

iii. The LCM of 16, 18 and 24 is    

iv. The HCF of  48, 60 and 72 is    

v. 1 lakh =  thousand 

vi. LCM x  = product of the two numbers. 

vii. 7859 comes just after    

viii. The place value if 9 in 285927 is    

ix. The factors of 28 are    

x. The first five multiple of 5 are    

7. Match the following : 

Column 1 

(Number) 

1x5= 5 

Column 2 

(Divisible by) 

1. 100 (a) 19 

2. 321 (b) 17 

3. 9977 (c) 11 

4. 8551 (d) 3 

5. 133 (e) 2 
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